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QUESTION BOOKLET

This question paper contains 170 questions. / EIFEHT 17092 |
All questions are compulsory. / @t w97 31fam & |
One question carries half mark only. / Teh Y97 o ToTU Shael 31141 375 % |

Maximum Marks : 85 JfYhan 31 : 85
Time : 2 Hours o : 2 gue
1.  Harappan weapons were made of
(A) bronze (B) stone (C) copper (D) None of these
o BRI O
(A) i (B) TR (C) dfen (D) 3TH & B T

The famous grammarian Panini hailed from which of the ‘following
mahajanpads ? X |

(A) Gandhara (B) Kamboja  (C) Vatsa (D) Avanti
g Jerrentor arfrfa e | 9 fopd wareue 6 w9 7

(A) e (B) (©) =@ s (D) st
The concept of Anuvrata was advocated by | |

(A) Mahayana Buddhism (B) Hinayana Buddhism

(C) Jainism (D) None of these

IS <1 bl shl Sehord Tehwreh I shl 3 off 7
(A) WEEFG Y (B) EEFSg B (C) S e (D) 370 4 IS Fal

Which rock edict of Ashoka prevides.a description of the horrors of Kalinga
war ? : ‘

(A) 10% Rock Edict . (B) 13"Rock Edict

(C) The Edictat Dhauli. ~ (D) The Edict at Jaugada

3T 1 B | RTEerg Hier g 1 fafifiet w1 forewor g e @ 7
(A) cHal Rreee (B) dEal freierE

(C) et = e (D) STe =1 Rrerera

Who arfiong the following took the title of Vikramaditya ?

(A) Chandragupta-l (B) Chandragupta-II

(€). Samudragupta (D) Skandagupta

= 5 g foRm TorshmTiee <hi 3Ty amer <At 2
(A) J5mE-1  (B) ==mm-II  (C) ¥9TH (D) &h<TH
Who among the following is credited with the invention of Algebra ?

(A) Aryabhatta (B) Bhaskara (C) Apastamba (D) None of these
Sremiord 6l @i o 2 A A 8 fopa fersman @ 7

(A) 3MEwg (B) W= (C) HATE= (D) T8 & HI5 T
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10.

11.

12.

13.

14.

In early medieval India, what did the term Jital refers to ?

(A) Weight (B) Diet (C) Coin (D) Game
TRRTeh Td ¥ e ‘Faa’ 9 == gefiia o ?
(A) FH (B) s (C) Toma (D) ©d

Which of the following Chalukyan city is known as the city of temples ?
(A) Pattadakal (B) Badami (C) Aihole (D) Kanheri
= o o A1 ST TR G w1 TR S 9 H ST AT 8 7

(A) UgSHA (B) sreHl (C) W@ (D) ==l

Malik Kafur was whose general ?

(A) Balban (B) Firoz Shahy T‘ughlaq
(C) Iltutmish (D) None of j;hese
HfcTeh ShTHRL fehErehT AT o7 ?

(A) oA (B) ﬁﬁﬁmw
(C) segaia (D) ¥H & e

Which of the following musical 1nstrume.nts ‘was not composite or Indo-
Islamic in origin ? .

(A) Sitar (B) Tabla LC) Sarangl (D) Shehnai

= o & % |1 Tt 9 w9 mwﬁsu—s’r SEATTH & o1 7

(A) faam (B) e _WHC) gt (D) W&

Bhakta Tukaram was a contemporary of the Mughal emperor

(A) Aurangzeb (B) Shahjahan : (C) Babar (D) Jahangir
ww%&rwm% qeRTel o 7 ‘
(A) 3 (B) “mesien (C) TTeR (D) SRR

Kumarasambhava, afl eplc poem was composed by

(A) Kalidasa (ﬁj “Harisen (C) Chand Bardai (D) Banabhatta
FURER, TF HETERIE heh g e o ?

(A) FricTeFgs, (B) e (C) w=ee (D) g

Who was the mccessor of Shivaji ?

(A) Ramaraja , (B) Sahull (C) Sambhaji (D) None of these
TRraTsht T SRS I4 o1 ?

(A) T (B) wWm®-ll (C) TwT=h (D) T ¥ i3 &l

Which one of the following was the first fort constructed by the British in
India ?

(A) Fort William (B) Fort St. George

(C) Fort St. David (D) Fort St. Angelo

Rd § 37Ut g1 ia vger feven A @ s @T o 7

(A) W fafmm  (B) B 3=< SEN (C) B 8= fas (D) ®I U< Ufarelt
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15.

16.

17.

18.

19.

20.

21.

Who was the first Governor General of India ?

(A) William Bentick (B) Robert Clive
(C) Warren Hastings (D) Lord Canning
YT =T T T LA <hid T 7

(A) oM efR®B) Ui ®mRa (C) aF e (D) @fE ST

The last major of British Indian territory took place during the time of
(A) Lord Dufferin (B) Lord Curzon

(C) Lord Lytton (D) Lord Dalhousie

forereh Tma h <IU foifest wRe ™ &5 ot 31f=<m Ao o ¢

(A) @WETHE (B) @eded (C) defled (D) oS saam

Where was the Theosophical society founded in 1875 ?

(A) USA (B) UK (C) USSR (D) India
1875  Rrreifthehet HETse! T T hal g8 off ?

(A) W8T (B) I%H. (C) J.UH.TH.3. (D) WRd
‘Diarchy’ was first introduced in India under

(A) Morley — Minto Reforms (B) Montford Reforms

(C) Simon Commission Plan (D) Government of India Act, 1935
RA H ‘Y WeH’ Iget! SR ferden 31¢f o R 7

(A) uTet-Tirma gam (B) Hi<HIE U

(C) HTSH U ST (D) YRd TR A=, 1935
Who was the founder of the Indian Association ?

(A) Dadabhai Naoroji (B) Bal Gangadhar Tilak
(€) A.O.Hume (D) S.N. Banerjee

3fUET THIRHUIN < TEATIH i o7 ? ‘

(A) TIeTaTE TS (B) Te1 TMTeR foeteh

(C) T3 7 (D) TE.TA. Ssi

Who among the following first used the word ‘Swarajya’ ?

(A) Raja Rammohan Roy (B) Bal Gangadhar Tilak
(C) Mahatma Gandhi (D) Swami Vivekanand

T 3 @ fope werd TEe! s’ weg o1 W fepar 7

(A) TSl THHTES T (B) a1 e feeten

(C) weTenT meft (D) Tl feaepr<

Which one of the following ashrams was not set up by Gandhi ?
(A) Phoenix Ashram (B) Tolstoy Farm

(C) Sevagram (D) Gandhi Ashram

o amemi & & 1 a1 T e g Tl FE R 2
(A) Sifed 3 (B) dewe@ ®M (C) J9mm (D) et aem
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22,  Who authored the book ‘Hind Swaraj’ ?

(A) Bal Gangadhar Tilak (B) Mahatma Gandhi
(C) Gopal Krishna Gokhale (D) M.G. Ranade
“Tomg T’ qeieh Tohereh g foredt 718 7
(A) oe1 TmeR faeTes (B) wT@reat meft
(C) TIrITe 0T TTEel (D) .S TR
23. The leader of the Bardoli Satyagraha (1928) was
(A) Mahatma Gandhi (B) Mahadev Desai
(C) Sardar Vallabhbhai Patel (D) None of these
TSIt Teamig (1928) =T =T i o7 ?
(A) wgrean mef (B) WeIeH ¢HTE
(C) TG SeevwTs e (D) 3T ig &
24, The All India Muslim League was formed in 1906 at
(A) Aligarh (B) Dacca (C) Lucknow (D) JEahore
1906 ¥ e gfogan gfeem i s e Fai gg ot 7 " W
(A) 3Jefirg (B) TmhI ©) @ETs, D) e
25. The Indian National Army (INA) came into,existefieelin 1943 in
(A) Japan (B) Burma (G Sjng\iapt)ré' (D) Malaya

FATSITE e wist (INA) 1943 H SAEThH SIS
(A) = H (B) ==id [ Oy fmgRd (D) Hemnd
26. Who was the Defence, Mmlster of India during the Indo — China war of 1962 ?

(A) R.N.Thapar [ 4/ (B) Jagjivan Ram

(C) V.K. Kgighna Metioh (D) Govind Vallabh Pant
19628 #T <4, Z¢ % ST TR % &1 Tt B 3 7

(A) FRTT, G, (B) STSieA TH

(C) .. W T (D) T Jeety ud

27. Jain temple of Mt. Abu is made of
(A) Granite (B) Limestone (C) Sandstone (D) Marble
HISUE 3TE 1 S Al &1 &
(A) TTECH (B) @EHRNAHA (C) WgAd (D) AR ¥

28. The Queen of Himalayas is
(A) Dhaulagiri (B) Kanchenjunga (C) Nanda Devi (D) K-2
fewrera <61 ot B
(A) et (B) ehEeerm (C) =1 ceh (D) K-2
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29,

30.

31.

32.

33.

34.

35.

36.

Burhanpur Gap is situated in

(A) Vindhya Range (B) Satpura Range
(C) Aravalli Range (D) None of these
(A) Toex ydamren § (B) HaIST YdaHTeT H
(C) 3Tt geauTen | (D) T W =i T&

Which of the following is the largest river of Peninsular India ?
%‘t)’ Godavari  (B) Krishna (C) Mahanadi (D) Cauvery
T ¥ % Hl TG 9Rd Sl 98 S A R 7

(A) TeEd (B) oM (C) warel (D) =
Which of the following states leads in the production of Sal in India ?
(A) Bihar (B) Madhya Pradesh

(C) Odisha (D) Andhra Pradesh
T | HTe1 o 3cq1ed 8 3ol s i A g s e g 7

(A) feEr (B) H&I WeW (C) aAfesm (D) A=Y T

The largest reserve of coal in India occurs in the

(A) Narmada Basin (B) Damodar Basin

(©) Godavarl Basin (D) Cauvery Basin

VA § HoH ST hiFeT ToTd hal I= Sl & 7

(A) e afm (B) et A &

(C) Terad affm o (D) HEG = H

Which of the following is least irrigated state in India ?

(A) Uttar Pradesh (B) Punjab (C) Haryana (D) Mizoram

I 1 W H =fad ffed AR 7
(A) IR I (B) U (C) wf@mm (D) foerm

The largest wheat producing state of India is

(A) Maharashtra (B) Uttar Pradesh (C) Punjab (D) Haryana
IRA H a1 g IcdTeeh U 8 .
(A) wEwTg (B) SW¥e  (C) T (D) st

The largest petro-chemical complex in India was established by Union

Carbide at

(A) Trombay (B) Vadodara (C) Bijapur (D) None of these
=N IRA | e Fg1 U2l -THR— Hhe o

(A) g (B) =eEIeq (C) SiTge (D) T4 & %15 Tl

NALCO has set up an integrated aluminium complex in
(A) Madhya Pradesh (B) Chhattisgarh
(C) Rajasthan (D) Odisha
Arerehl (NALCO) = wehisha Uefifam dgpet werfud foren 3
(A) mETE  (B) oEETe (C) TS (D) 3ffesm
7 Code No. : C-441/2018/Series-A



37.

38.

39.

40.

41.

42,

43.

44.

Black soil in India is associated with

(A) Basalt (B) Granite (C) Limestone (D) Sandstone
YA § whref] el fored geafRa @ 7

(A) sHTee (B) ITe (€) F-TR (D) SIS-Fee

Agar-agar is obtained from

(A) grass (B) fish (C) sea-weed (D) bark of tree
UR-UT FoFEd W a1 2 ?
(A) = (B) woeht (C) g dare (D) U H Bt

Which of the following is not a navigable river ?
(A) Brahmaputra(B) Godavari (C) Narmada (D) Chenab
e o & B it T T8 TR

(A) S (B) el (C) e (D) fammE
Which of the following fibres is often called the goldenPibré&jof India ?
(A) Sisal (B) Hemp (C) Cotton D), Tute ©
= 1 ¥ % 91 SR IH: m?mrh@—-rmmm% )

() et (B) (©) FAL gy B) 7
Which state has the highest number of illitetatestin Lr.ldla ?

(A) Bihar (B)" Andhra Pradesh

(©) Odlsha (D% Uttar Pradesh

IR H freri it waifees g %atrﬁf

(A) fomm (B) Frgwe, NO) sifem (D) W

Which of the following,i IS apull yfactor that causes migration ?

(A) Unemploymepit | | (B) Hunger

(C) Starvation,. " " (D) Attraction of a city
ﬁmﬁ@ﬁmuﬁm%ﬁa@ww%%

(A) éﬁwnfl _(B) W@ (C) yEud (D) & T TN
Wlnch of the folﬂowmg religions is the last to appear on the scene of India ?
(A) Hihduism (B) Islam (C) Buddhism (D) Sikhism

TIRA % He T 31 § Tehe B arent o e H s e
(A) B (B) wm (C) sigwd (D) foere e

Which of the following states in India has the maximum Christian
population ?

(A) Goa (B) Tamil Nadu (C) Kerala (D) Madhya Pradesh
ard 8 = 1 3 fopm U ° gafues sar8 sAaemn 2 7
(A) TE (B) dfieFig  (C) W« (D) T We¥

Code No. : C-441/2018/Series-A 8



43.

46.

47.

48.

49.

50.

51.

52.

The increasing concentration of carbon dioxide into the air causes
(A) global warming (B) acid rains

(C) heat stroke (D) All of these

FA1 1 6 SIS3TTF0TSS hi g@d! HIHdT o ShRUl &Il &

(A) afdgsam (B) vt (C) dmmEE (D) I &t

The best method of disposal of garbage is

(A) land filling (B) vermiculture (C) burning (D) incineration
e o e 1 3o vgla 8

(A) 9 9TE (B) aiffeheat  (C) STl (D) TR

Jet streams blows from

(A) Eastto West (B) West to East
(C) North to South (D) South to North
Sie gl s 8

(A) @aueay (B) ufsemagd (C) ImACHT (D) <faoraIm
Drift plains are formed by the action of

(A) Rivers (B) Glaciers (C) Winds (D) Waves

(A) et (B) fewrret (C) s (D) W&l
Tsunamis are originated due to

(A) Seawaves (B) Earthquake (C) Hurricane (D) Rotation ofthe Earth
A fopeeh FROT B € 7

(A) FEATEd  (B) (C) THH (D) 21 % =

The deepest ocean of the world is

(A) Atlantic Ocean (B) Arctic Ocean
(C) Indian Ocean (D) Pacific Ocean
ferget <h1 Tdl TEU WETEIR &

(A) 3TecATUEH HETETR (B) 3ATehfdeh HEMTR
(C) foe wemrR (D) ST HETHFR

How many members were initially there in the Constituent Assembly of
India ?

T <h1 HiT9™ 991 § TR €9 4 fhad Hee9 9 ?

(A) 300 (B) 302 (C) 304 (D) 306

The concept of Judicial Review in Indian Constitution has been taken from
the constitution of

(A) USA (B) Canada (C©) UK (D) Australia
TR Giaem 8 =Rk TRIaeie 6t Hehed s e a e 1 8 7
(A) WY (B) HAEI (C) I (D) stegfern

9 Code No. : C-441/2018/Series-A



53.

54.

55.

56.

57.

58.

How does the Constitution of India describe India as ?

(A) A Federation of States & Union Territories

(B) A Union of States

(C) Bharatvarsh

(D) A Federated Nation

YT o1 HIGET HId oh hdl aTvid il & 7

(A) T 3R Hrg-3Mied Jesli 1 99 (B) Tl 1 99

(C) e (D) HeIg g

Which one of the following is Human Right as well as a Fundamental Right
under the Constitution of India ?

(A) Right to Housing (B) Right to Work

(C) Right to Information (D) Right to Education

= ° 9 = 91 T 7ee SRR & 91 g 91 9T g & 1| fifaes
arferem ofi B 7

(A) 3T I ATTBR (B) i w1 1R

(C) H=HT =1 JAHR (D) fsrem =1 sAferem

To be eligible for election as President of India, a person must have
completed the age of

(A) 25 years (B) 26 years (C) 30 years (D) 35 years

A & TPATd o €9 § A9 o AT g o fe wsh =Fe o6t 3y gof fepam
F31 BT =0T, |

(A) 2599 (B) 26 (C) 30ad (D) 359

Who was the Prime Minister of India when the Anti-Defection Bill was

passed ?
(A) Indira Gandhi (B) V.P. Singh
(C) Rajiv Gandhi (D) H.D. Deve Gowda

Tl -sed forieft fadres utfta fopu ST & a2 wra o1 gameE S o 2
(A) sfeuwet  (B) fid.fig  (©) whwmmdi (D) w=.El. e

Who calls the joint session of the two houses of the Parliament ?

(A) The President (B) The Prime Minister
(C) The Lok S.abha. Speaker (D) The Vice President
THE o g1 TEHT hl YT 3k i AT & 7

(A) Tgdfd (B) YoMt (C) Apaarefiet (D) I9-Tgafd

The ﬁ;st General Election in India was held in
RA H YU 37 19 g
(A) 1950 (B) 1951 (C) 1952 (D) 1953

Code No. : C-441/2018/Series-A 10



59.

60.

61.

62.

63.

64.

65.

The first Indian state created on linguistic basis was

(A) Andhra Pradesh (B) Telangana
(C) Tamil Nadu (D) Karnataka
T3 STYR R T S 9™ T o1

(A) IFIYST  (B) doRTHT (C) aftrerTg (D) Heh

Who is the executive head of the State government ?

(A) The Chief Minister (B) The Governor

(C) The Chief Secretary (D) None of these

T T 1 HHBI TG HIH BT R ?

(A) gerEft (B) TS (C) gEEEfE (D) S O R A
The Speaker’s vote in the Lok Sabha is called

(A) Casting vote (B) Sound vote (C) Direct vote (D) Indirect vote
e § T 1 Hd e 8

(A) Fogsma (B) =@fi=a (C) Jaaq (D) I T

Who established Shanti Niketan ?

(A) Jawahar Lal Nehru (B) Bal Gangadhar Tilak
(C) Ravindra Nath Tagore (D) Mahatma Gandhi
snifar e fopam wenfue fomam 2

(A) STETE &Te H8% (B) TS TR foeTeh

(C) ey iR (D) wETeHT Mieft

The Constitutional Status has been given to panchayats under which Article
of the Indian Constitution ?

R dferer % e 31g=se & 3r=arid Temdi s dautiies g fear g 7

(A) 143 (B) 223 (C) 243 (D) 343
Who was the first Deputy Prime Minister of India ?

(A) L.K.Advani (B) Morarji Desai

(C) Sardar Vallabhbhai Patel (D) Charan Singh

T h1 TH IY-TUHA i o1 ?

(A) THA.. ATSami (B) TWRES <@TS

(C) TGN ToeTvHTS Tee (D) =T g

In which House of the Parliament, the presiding officer is not a member of
the house ?

(A) Lok Sabha (B) Rajya Sabha (C) Vidhan Sabha (D) Vidhan Parishad
THE o forg ged H, Tiomia 1R Her &1 Tew el BT & ?
(A) SR (B) T AN (C) fagmaw (D) fogm ufg

11 Code No. : C-441/2018/Series-A



66.

67.

68.

69.

70.

71.

72.

73.

The Ninth Schedule to the Indian Constitution was added by

(A) First Amendment (B) Eighth Amendment

(C) Ninth Amendment (D) Forty second Amendment

I |fqe 5 e SEE el T

(A) Yo FeH g (B) 3Ted TRNeH R

(C) e e g (D) sATEE T9NYE gr

The basic parameters of India’s Foreign Policy were laid down by

(A) Dr. Rajendra Prasad (B) Dr. Radhakrishnan
(C) Jawahar Lal Nehru (D) Dr. Zakir Hussain

Wﬁﬁ%maﬁﬁ%wm%&%mr@mé

(A) 1. W ST (B) Ef. TUTHE

(C) STaTeX &Tel 8% (D) . iRt g

Which sector of Indian Economy contributes largest to the Gross National
product ?

(A) Primary Sector (B) Secondary Sector
(C) Tertiary Sector (D) Nong of these
e 1 I H1 &1 Tehed TP IcATE | HATTeh TTEH edl 8 7

(A) v em  (B) fadesam  (C) gdiesh & (D) $70 9 his e

The% eriod of Plan Holiday in India was
ST SFerehTel 1 3fafer ot

(A) 1962-65 (B) 1966-69 (C) 1969-72 (D) 1972-75
The state having the highest density of population is
(A) West Bengal (B) Tamil Nadu (C) Uttar Pradesh (D) Kerala

SEEAT B Tl U9 &
(A) desmeETe (B) dbeHTg (C) I ICH (D) A
ONGC was set up in
ONGC I TITIHT e 55 ?
(A) 1956 (B) 1957 (C) 1959 (D) 1961

Which one of the following is not a constituent of Human Development
Index (HDI) ?

; Per capita Income (B) Life Expectancy at Birth
1&_:“:’ Gross Enrolment Rate (D) Health and Nutrition
T H i 91 T WHd forehrd gEehieh (HDI) o1 §eesh 61 8 7
(A) Sid =ae 3= (B) S R SfTe S
(C) Wehel Ui &t (D) TETE U IS0
Who is known as Father of White Revolution in India ?
(A) M.S. Swaminathan (B) V. Kurien
(C) K.N. Bahal (D) B.P. Pal

I 9ol Shifw o S o &9 § fohll STHT ST R 7
(A) TH.TH. TETHHETRA (B) . i
(C) +.TH. 98 (D) .91 9t
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74.

75.

76.

77.

78.

79.

80.

81.

82.

Capital market regulator is

(A) RBI (B) IRDA (C) SEBI (D) NABARD
FEIEIEReERIECT

(A) IR 3ME (B) JMEIRET (C) Tt (D) m&TE

The Foreign Exchange Reserves of India are kept in the custody of

(A) World Bank (B) IMF (C) RBI (D) None of these

9 o foreeht fafame frord fopeshl stfimen g wa s @ 7 .

(A) fead®  (B) IMWTE (C) AN E (D) T I E T8l
Which of the following is not a source of tax revenue collected by the
Government of India ?

(A) Custom Duty (B) Income Tax
%‘t)’ Service Duty (D) Dividends and Profits
H ¥ IF HT W HhR g0 FEId L TS 1 81 18 & 7

(A) T yes  (B) IR (C) T e (D) AT 3R A9
WTO was formed in

WTO T T g8

(A) 1991 (B) 1993 (C) 1995 (D) 1996
Homogeneous product is a feature of

(A) Imperfect Market (B) Monopoly

(C) Olig 1% (D) Perfect Competiti
120po 3 ertect Competition
(A) H@w (B) THIUHR  (C) 3ITeurfeehit (D) qof ufaft

In the electric supply lines in India, which parameter is kept constant ?

(A) Current (B) Voltage (C) Power (D) Frequency
e 4 ferega i efgA o fope wreret b feyT v s & 7

(A) ©mT (B) dieedr (€) Tk (D) g
Which waves are used in Sonography ?

(A) Microwaves §B) Sound waves

(C) Infrared waves ‘ D) Ultrasonic waves

hel T T Sl?ﬁ"[ e aTar 8 ? N N
(A) gemau@ [ (B) s@H o (C) FsEHTE (D) YUEaiTeh adl
Who among the follovvlng received Nobel Prize twice for the same subject ?

(A) Marie Curie (B) Frederic Jolit
Q). Frederlc Sanée

r ;[aa Stanley Cohen
ﬁwé%f%maarr{ e foharm 2
(A) ﬁﬁeﬁg"l (B) el Sifere (C) e ﬁTr{ (D) WA HleA

Which one of the following is not a form of stored energy ?

(A) Nuclear energy (B) Potential energy
%‘(2[ Electrical energ (D) Chemical energy
T I H1 Teh Hield Holl 1 &9 TG 8 ?

(A) TREET (B) fwEest () Bmgest (D) e o
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83. Which one of the following is the natural polymer ?

(A) Nylon (B) Teflon

%(_2’ Poly Vinyl Chloride (D) Cellulose
T % HT U UTehfch 95T & ?

(A) TR (B) <wA

(C) dich Rrrre Feiiss (D) Eeeetrst

84. Which of the following elements is found in all organic compounds ?
1gr\‘:)" Carbon (B) Calcium _ (C) Nitrogen (D) Oxygen
H ¥ o T o aeft Siferes it § arn S g 7

(A) A (B) hfceH (C) ATsgSH (D) AT
85. Which one of the following petroleum refinery products has the lowest

boiling point ?
g::){ Lubricating oil (B) Diesel (C) Gasoline (D) Kerosene
g fopm Torrgal ScuTe =1 FHUHATH 98 HH BT g ?

(A) Hghdad  (B) ENA (C) Tt (D) HUHH

86. Which gland is associated with the production of lymphocytes and
antibodies ?
(A) Hypothalamus (B) Adrenal (C) Thymus (D) Thyroid
21 ferrmiaTsen 3 AT & 3cared & grfa g 7
(A) TENdemE  (B) U@ (C) ommE (D) RIS
87. Which of the vitamins is essential for the red blood cell formation ?
(A) Thiamine _ (B) Folicacid (C) Riboflavin (D) Niacin
T T ShiTTehI3AT ok Tt & foru s a1 foerfim smews g 2
(A) wrsfE (B) wiferh ufeie (C) Tgewifed (D) framem

88. Which one of the following animals is cold blooded ?

%\;)’ Dolphin (B) Shark (C) Whale (D) Porpoise
T H S 91 970 SEHard E 7
(A) Sifew (B) wmh (C) = (D) YRS

89. Which of the following imparts yellow colour to urine in humans ?
(A) Bilesalts (B) Lymph (C) Cholesterol (D) Urochrome
1 H & o wHe § 3 ol e U1 WEH T § 7
(A) fmeEm  (B) ol (C) HIUA (D) IUhM

90. Saffron is obtained from which part of plants ?

(A) Leaf (B) Stem

(C) Stigma and Style (D) None of these
ST 5 o T R R e T R

(A) U=t (B) @1

(C) afdehra 3 afdest (D) 379 @ IE &l
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91.

92,

93.

94.

9s.

96.

97.

98.

99.

Which one of the following is termed as ‘Poor man’s Cow’ ?

Shee Buffalo C) Goat D
o @ o e o St 7 )
(A) ¥ (B) (&) W’ﬁ (D)
A compute1 cannot boot if it does not have the
(A) Compller (B) Loader (C) Assembler (D)
Teh S o) ¢ T fohaT 1 Fehell Afe 3EH 7 B
(A) FFEER  (B) TS (C) WweR (D)
The shape of a rain drop is spherical due to
(A VISCOSItX (B) Sutface tension(C) Elasticity (D)

1 g =T el SATHR fohereh BT g1 8 ?

(A) ¥FEAT (B) 9B dd= (C) TcITEan (D)
Sound travel fastest in

(A) Steel (B) Vacuum (©) Air (D)

T A T = 8

(A) EaH (B) fmafad (C) sH (D)
The coil of an electric heater is made of

A) aluminium (B) tungsten (C) nichrome (D)

e i i ] 7
(A) T (B) m (C) THhE (D)
Chlorine is mixed in water so that
(A) Dirt is removed (B) Water is cleaned

(C) Bacteria are killed (D)
q I HRT
(A) TeTh GBI B | (B)
(C) ST E | (D)

Ascorbic acid is a/an

(A) Amino acid (B) Enzyme (©)
T TS B

(A) TFiTE (B) T (C)
Anthrax is caused by

%ngims (B) Bacteria (©)

(RTer-Tnm) Topses HROT BT 2 7

(A) fersmo (B) Sfamy (©)

Penicillin is isolated from

(A) Fun%m@ (B Vlrus
(A) g (B) fw@

(©)

(©
15

picic

None of these

oY EI% IR |
BEEEIEE]
Protein (D)
(D)

Mycoplasma (D)

aEhIe=Al (D)

Bacteria

Sffamy

(D)

(D)

None of these
TTH | I TE
Operating system
TR foeen
Gravitation

TRy

Water
JAH

None of these

ST © IS T

Vitamin

Algae
NEI!

Algae
et
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100.

101.

102.

103.

104.

105.

106.

107.

Which of the following is not a kharif crop ?
(A) Cotton (B) Mustard (C) Groundnut (D) Maize
= 3 & i o s wEe TR R 7

(A) HIH (B) wHi ' (C) Hhett (D) Tl

As ‘Doctor’ is related to ‘Patient’ in the same way ‘Lawyer’ is related to
(A) Customer (B) Criminal (C) Magistrate (D) Client
58 TR ‘gleet’ wrafm @ wie 9, 36T YR Fehiel’ foRed arefa R 7
(A) TEH (B) 3o (C) ARz (D) Hafed

If English alphabet is written in backward order, then what will be the 13"
letter to the left of the 3" letter from right ?

Ffe TS FUHTAT I 31 v § foran Srar 2, af <’ 8 e 318 % 918 oRgdl
&I I HEM 7

(A) P (B) N (C) R D) Q

How many meaningful English words can be made with ‘EPRY’ using each
letter only once in each word ?

(A) One (B) Two (C) Three (D) More than four
Y% WG H TS & T hael U 91 WA Hid ¢ ‘EPRY’ @ fohad areif
TSN 976G ST ST Hehdl & 7

(A) TH B) o (C) = (D) =Y 3Hfteh

If CUP = 40, then KITE is equal to

afg CUP = 40, @1 KITE fohemeh ster 2 7

(A) 35 (B) 40 (C) 45 (D) 50

If 1* October is a Sunday, then 1*' November will be

(A) Monday (B) Tuesday (C) Wednesday (D) Thursday

qﬁwrﬁaﬂ%,fﬁ%?ﬁw
(A) FHaR (B) TWITER (C) §9aR (D) &R

Moni is daughter of Sheela, Sheela is wife of my wife’s brother. How Moni
is related to my wife ?

(A) Cousin (B) Niece (C) Sister (D) Sister-in-law
T, Sfrem =t 5t & | often T ueh % 9rg it ueh R |ﬁﬁﬁﬁﬁﬁ%€m
AR & 7

(A) i (B) sfrsft (C) =& (D) wsft

A man walks 6 km south, turns left and walks 4 km, again turns left and
walks 5 km. Which direction is he facing now ?

(A) North (B) South (C) West (D) East

T A 6 Tohet gféqur <ht 3T <otar 8, 519 gedt & 37 4 fopdt =oran 2, e @ e
T B 301 5 foprft s ® | ma%’ﬁu"aﬁw%mﬁlg@r% ?

(A) S (B) afem (C) dfw=m (D) o
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108.

109.

110.

111.

112.

113.

114.

What will be the angle between hour hand and minute hand, if clock shows

8:30 pm ?

%ﬁmaé 8:30 pm ST 8, @1 =02 i ¥ 3N e 6 g3 & &g Hir fraa
?

(A) 60° (B) 75° (C) 90° (D) 120°

Nikhil is 8 year younger than his brother Rohan. How old will Rohan be
when he is twice as old as Nikhil ?

(A) 4 year (B) 6 year (C) 8year (D) 16 year

fiRae 3797 wiE T § 8 9 BIeT 8 | e foha o4 =1 g we 78 fiftae <t a1y
H AT BT 7

(A) 49 (B) 6ad (C) 89§ (D) 16=8

How many odd numbered pages are there in a book of 1089 pages ?

1089 U <hi Wb qeh B Torm e aret Ot fobe & 7

(A) 542 (B) 545 (C) 544 (D) 546

Which Indian — origin scientist has launched the World’s first micro factory
to help tackle e-waste hazard ?

(A) Subhash Khot (B) Veena Sahajwalla

(C) Krishna Chatterjee (D) Yadvinder Malhi

3379118 Hehe § Fe # wareran = o ferear <1 wem wmgen! Sl fopm vt
o1 % AT T H R 7

(A) gaIN@ER  (B) i HESEe (C) FONEH (D) IAgleel Hiea!
Which IIT has installed India’s first 5G radio laboratory ?

(A) IIT—-Delhi (B) IIT—Mumbai (C) IIT —Indore (D) IIT — Roorkee
forg IIT 3 Wi hl ggeft 5G WA cardt a6t 8 72

(A) NIT-feeeft (B) NT-g=E (C) NT-3<R (D) [T -—FgHh
What is the theme of the 2018 National Safe Motherhood ?

(A) Safe Motherhood (B) Care for Child

(C) Aware for Safe Motherhood (D) Respectful Maternity Care
2018 g gifera wiged hi T 7 ?

(A) A% HEES (B) % ®BR AT

(C) 3T HH % Uelgs (D) Tegege Berf it i

India’s first high-speed electric locomotive has been flagged off recently
from which state ?

(A) Bihar (B) Maharashtra (C) Uttar Pradesh (D) Assam
T 1 T8 3= -T11d Toe[d S5 BTt &1 H b T & =eiman T 2
(A) foem (B) wEwTy (C) Iy (D) A
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115.

116.

117.

118.

119.

120.

The Joint Military Exercise ‘Desert Tiger 5° was held between UAE and
which country ?

(A) Malaysia _(B) Vietnam (©) Indones1a (D) Denmark

Y S I T TR S’ WS I Forw <91 <k o= o gam ¢

(A) wmRwE (B) Terrawm (C) SWeHf@T (D) s

India’s first helicopter — taxi service has launched in which city ?

(A) Bengaluru (B) Kochi (C) New Delhi (D) Kolkata
WA i e gefieiet eaeht afefa form et g A S R 7

(A) sTgE (B) @It (C) Ffeeelt (D) Hiewhran

The 29" edition of the world famous International Yoga Festival (IYF -
2018) was held in which Indian State ?

(A) Uttar Pradesh(B) Uttarakhand (C) Jharkhand (D) Madhya Pradesh
Terva ufrg sr=aigia o waaa (IYF- 2018)%[29GTWW33%HW
T g3 7 o

(A) SWIe®  (B) SW@E  (C) @Sy, (D) " ew

Which country will become the world’s first country to issue digital legal

tender “Sovereign” ? -

(A) Kiribati (B)" Fljl

(C) Marshall Islands (D)y"Nauru

tvnam a1 39 fesfiea ofimer 2vex “awﬁ#’arﬁmﬁwﬁwwmémaq

?

(A) Tertiaet (B) fesft, ’(C) Al AAEUE (D) A

Which platform has be¢h lauhched by the Union government on the

occasion of 2018 International Women’s Day ?

(A) Women Entrepreneurship Platform

(B) Women Combat Platform

(C) Women Péwer Platform

(D) Women Litefacy Platform

%0%8 a?l%ﬂ‘g"m HigeT food & I W g TR g T AT TiehiH TR
. |

@) T Se! wew (B) ufeet Hed wiew

(C). et ik e (D) WfEeAT ATERAT e

Who has become the first Indian woman from the field of law and justice to

be conferred the ‘Nari Shakti Puraskar’ ?

(A) Fathima Beevi (B) Sujata Manohar

(C) Gyan Sudha Mishra (D) Gita Mittal

%ﬁﬁm%%ﬁﬁ I SIRF GRSl S arell YRd 6T vem ige
?

(A) ®rfcaT sl (B) gomai e (C) FH ganfaen (D) en e
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121.

122,

123.

124.

125.

126.

127.

Who has become the first woman officer to be inducted as the first direct —
entry combat officer in Indo — Tibetan Border Police (ITBP) ?

(A) Prakmnti (B) Geetanjali (C) Radhika (D) Sudha

3ueT- e et gfetd (ITBP) H W SRR Tl Sire ATha & &9 H Jiqs
B aTel T Afgen ATRER @i s 7

(A) SHid (B) Tiaisiett (C) Tl (D) g

Anjum Moudgil is associated with which sports ?

(A) Tennis (B) Badminton (C) Shooting (D) Boxing
3T9H HIEAe fore T 8 Faf2a 2 7

(A) <= (B) ®efiees  (C) Twmsmst (D) HeseSh

The first ever Indo — French knowledge summit was held in which city ?
(A) Goa _ (B) Puducherry (C) Mumbai (D) New Delhi
T 3UST-Thd T TSTER Trer fohe wet | sTRiford gam e ?

(A) TMET (B) 5=t (C) 7= (D) 8 feett

Which Indian city hosted the International Association of Chiefs of Police
(IACP —2018) ?

(A) Kolkata (B) Ajmer (C) New Delhi (D) Bhopal

Torm ‘m'{ga ITET  SUSAIHS THITHUH 377 o 3776 gferdr (IACP-2018)
EECIED 7

(A) ®EH@ (B) 3R (C) Wheeeht (D) W

Who has been named as the ‘Cricketer of the Year’ in the 6™ edition of
Wisden India Almanac 2018 ?

(A) SureshRaina (B) M.S. Dhoni (C) ViratKohli (D) K.L.Rahul
forsten sfugan el 2018 & ©3 TwRl § foh “TRchet 3116 g 90 © T1fia
feRem T ?

(A) FETET (B) wo.UH. gFt (C) T ®iEe (D) %.Ud. Uga
Who has been recently nominated as the India’s representative to Executive
Board of UNESCO ?

(A) J.S.Rajput (B) Ravish Kumar(C) Suraj Gug;ta (D) Priyank Sen
= 4 9 fohd BTt 81 5 IRl h SRIHR] HUSH § WRA o U1 % &9 H HHHG
[ERIRICIN

(A) S.T8. T9qd (B) Jawi$aAR  (C) §& T (D) e u=

Who has been sworn-in as the new President of Peru ?

(A) Marisol Espinoza (B) Mercedes Araoz
(C) Martin Vizcarra (D) Pablo Kuczynski
U o T3 UEAld o &9 H fohee sy ot ¢

(A) g fersT (B) WfHE w3
(C) mfea fastshu (D) uTsAr HiTaeht
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128.

129.

130.

131.

132.

133.

134.

135.

136.

The Satluj river enters H.P. from Tibet at

(A) Rohtang (B) Shipki (C) Makori Jot (D) None of these
Tacst "ol fosad 9 femmae # yors i) @

(A) Tgamd  (B) Bmhid (C) TR I (D) 3 s Tal

The ‘Surajtal’ lake is located in which district of H.P. ?

(A) Lahaul & Spiti (B) Shimla

(C) Kinnaur (D) Mandi

‘grorarer feameret yew o fopa foer  fdra 8 7

(A) wEe-fafa (B) fmen (C) FeraR (D) AU

Himachal Day is observed every year on
(A) 25 Januvary (B) 15 April (C) 1 September (D) 1 November
fewmeet T ST 8

(A) 2599l (B) 1531« (C) 1= (D) 199%R

The rainiest place of H.P. is

(A) Jutog (B) Bhoranj (C) Dadhol (D) Dharamshala
I ST T 91 aTell €I &

(A) Jem (B) RS (C) Esa™ (D) ©HSAT

Which one of the following districts does not fall in the “New Himachal’ ?

(A) Chamba (B) Kullu (C) Lahaul —Spiti (D) Kangra

T o =l o e T2 Temmeer’ ® 4 e @ 7

(A) =T (B) %<l (C) wrE-ferfd (D) wimer

Naina Devi hills are located in
(A) Bilaspur (B) Hamirpur (C) Kangra (D) Una
1 Gelt wETieal fera @

(A) Fememd  (B) whmd () wmed (D) s

Chandrakhani pass is located in which district of H.P. ?

(A) Kullu (B) Chamba  (C) Kinnaur (D) Sirmaur

@ gt femrael vew & fra e d fea B 7

(A) Fee] (B) = (C) foFR (D) TR

Jogini Waterfall is located in

(A) Manali (B) Mandi (C) Summer hill (D) Sundernagar
EIC)

(A) T A (B) Wt H (C) Tmfgad® (D) @R E
Which of the following was the oldest princely state of H.P. ?

(A) Trigarta (B) Kuluta (C) Hindur (D) Suket
Tewrerer gewr =1 e g e s e A g w a2
(A) o (B) efel (©) Tt (D) gHd
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137. Who was supposed to be the first King of the Kinnar ?

(A) Parikshit B) Praduman (C) Pipru (D) Arjunya
bl 9N =T AT SIIAT =T 7
(A) wlifea (B) wgmd (C) Tme (D) 3
138. Who founded the ruling dynasty of Hindur ?
(A) Jaskaran Chand (B) Ahl Chand
(C) Kahl Chand (D) Ajit Chand

o TTTEh 931 1 TEATIH Hid AT ?

(A) SR T< (B) @A d<E (C) Haad< (D) 3s(d 9<
139. ‘Rang Mabhal of Bilaspur’ was constructed during the reign of

(A) Hari Chand (B) Kabir Chand (C) Suhag Chand (D) Bijai Chand

‘  UTHEA ol 0T foheeh SMTEehTeT o GRIA 3T AT 7

(A) BE= (B) SEIE< (C) HarmE=< (D) TecrrEr
140. The capital of the Kutlehar State was at

(A) Talhati (B) Paprola (C) Kot-Kahlur (D) Chauki

FeoTal UsH i TgmT o
(A) deTEd (B) Yudren (C) ®l-HgeR (D) =

141. Where was Indo — Pak Shimla Agreement (1972) concluded ?
(A) Bares Court(B) Petethoff  (C) Boileauganj (D) The Retreat
HRA—TTeh TIHAT FHZIAT (1972) Hal 9¥o= g &7 ?
(A) sEHE  (B) few®  (C) wmem (D) sfEe
142. When was the Sirmaur Praja Mandal founded ?
THTIR 9T qUget 3hi TATIHT 6 g3 7

(A) 1939 (B) 1923 (C) 1936 (D) 1942
143. Who headed the Himalayan Prant Provisional government set up in 1948 ?
(A) Dr.Y.S. Parmar (B) Ram Lal
(C) Bhaskara Nand (D) Shiva Nand Ramaul
1948 ¥ ¥TfUd TEHTeTE S SIS Ta-Hw i STeern foha i 7
(A) El. 99.TH. THR (B) THeT™
(C) TR A< (D) fare= it
144. Riwalsar is the birth place of
(A) Raja Preekshit (B) Hidimba
(C) Guru Gobind Singh (D) Padamsambhava
S TIA 8 7

(A) Tnsfifem  (B) fefewn (C) TR e (D) wgremE
145. Temple of Bagulamukhi is located near

(A) Dehra (B) Una (C) Arki (D) Nahan
e 1 afet fhaes wfiu fa g ¢
(A) <& (B) & (C) Ik (D) AT
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146. The Gaddis are

(A) Monogamous (B) Polygamous
(C) Polyandrous (D) None of these
T B &

(A) THfaaEl  (B) wEfed@  (C) wgufaw (D) T 9 IS &l

147. Arki School of Paintings flourished in the princely state of

(A) Bajji (B) Bhagat (C) Jubbal (D) Bhagal

Termrepen i areht Sieft form famedt T A ogg 6 ¢

(A) = (B) W (C) SIese (D) Wt
148. Which district of H.P. is famous for salt mines ?

(A) Kangra (B) Solan (C) Mandi (D) Kullu

TemTeer et o1 i1 &1 e 79 6 @Hl & fou ufag 2 7

(A) HhTEl (B) dHieW (C) muE (D) Tl
149. Great Himalayan National Park is located in which district of H.P. ?

(A) Solan (B) Mandi

(C) Lahaul & Spiti (D) Kullu

U Tt S9ret ureh feareel wew & fora el o i 8 7

(A) e (B) Tue (C) wEa-fErfa (D) eeL

150. In which year Nathpa — Jhakri hydel project was launched ?
TTT- TR STeT TS Fohd T ey g8 7
(A) 1988 (B) 1991 (C) 1994 (D) 1995

Directions (Q. Nos. 151 — 155) : Choose the most appropriate word out of the
four given options A, B, C and D to fill in the blank.

151. Can I stay the week end ?

(A) until (B) by (C) for (D) off
152. You are very patient me.

(A) towards (B) to (C) for (D) with
153. Let’s try to agree a date.

(A) with (B) about (C) on (D) to
154. The tyre of a moving car presses the road.

(A) at (B) on (C) against (D) beside
155. We should abide the same law of land.

(A) under (B) to (C) by (D) before
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Directions (Q. Nos. 156 to 160) : Choose the word out of the given options A, B,
C and D which is opposite in meaning to the given word.
156. Clergy
(A) Clerk (B) Priest (C) Laity (D) Church attendent
157. Vulgar
(A) Simple (B) Restrained (C) Retired (D) Graceful

158. Abhorrence
(A) apprehension (B) aversion (C) appreciation (D) liking

159. Infringe —

(A) keep (B) break (C) violate (D) trespass
160. Majestic ¢ O

(A) august (B) sublime (C) regal (D) paltry
161. “FRTor o TatET= 2 ”

(A) 3 (B) SRl (C) At (D) =it
162. Sig@awmeh Ffmwewms

(A) z& (B) ¥ o (Q) TR (D) 3T

163, 37T =T e’ HRTR %1 39 & L P

(A) gfggm  (B) FEABRT 7(C) FeH (D) Fhg W HA
164. W + 3= H Efug ’

(A) HFERH (B) #IF<R  (C) FHIH (D) wE=R
165. YEIE2 (9

(A) FRME, (B gfe (O s (D) I
166. ‘gl & R@EE

(A) wffm (B) gfarfean (C) wifea (D) dIfreR
167. “FYT T WEET=H &

(A) HYHR (B) #Ag (C) = (D) =g
168. ‘Hi-w9' H¥qE 8

(A) wgsiife (B) dcgey (C) ¥=rfiure (D) &=
169. @Y ®

(A) <Ear (B) gaes (C) gom® (D) &

170. < ET@WW“TW%
(A) %8 (B) (C) 37 (D) &l
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